Readings of the power being used at a given time are taken at hourly intervals at an electric
substation. The units of power are in kilowatts (kW) and the hourly readings over a 12-hour
period are shown below.
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a) Using a left sum approximation with( E]egually spaced subintervals, approximate the

power usage from time =4 to 7= 12.
25% Svm = 2(10003 op Z(I'ZCD\ + 2(“003 + 2. (140)

JHOO hr(kW)
= 9400 WNW

b) Using a right sum approximation with 4 equally spaced subintervals, approximate the
power usage from time 7 =410 7= 12.

Fioht Sum = 2(1506) + 2(1408)+2 (1106) + 2 (1200)
lo400 KWh

¢) Using a midpoint approximation with 4 equally spaced submter,vals approximate the
power usage from timer=4tor= =12,
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= 2(350)+ 2(1000)4 2(1460)+ 2(1100)
= 4900 WW\
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1. Using the table of values shown above for the continuous function A(x), which of the following is the
approximation of the area under the curve s(x) using left sum wit@qual subintervals?

(A) 34 (B) 30 (C)28 (D) 27 ‘(E) 24]
Lt Sum = 2(2)+ 2(3) +2(3)+ 2(H) ..
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2. Using the table of values shown above for the continuous function /(x), which of the following is the
approximation of the area under the curve h(x) using right sum wit

qual subintervals?
(A) 34 (B) 305 (C) 28 (D) 27 (E) 24
=9-1.%.
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10+ ¥+ b+0b= 20

3. Using the table of values shown above for the continuous function A(x), which of the following is the
approximation of the area under the curve A(x) using midpoint sum wit

(A) 34 (B) 30 zgq 238 | (D) 27
tdpeint gom s 4 (3) o 4 (1)
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4. A function fis continuous on [1,5] and some of the values of fare shown below
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If the right Riemann sum is 17, then the value of 4 is:
(A) 4 (B)0 - (O3 (D) 4.25 (E) 5
gt sum =

A% () + ax. $¢4)
\7l = 12 + b

17 = 2+ 3

B = 3b

R = h



